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Introduction



Unit 1: British period study and enquiry


Unit 1 involves the study of a period of British history. At both A- and AS-level there are two sections to the examination. Section A is the enquiry section and Section B is the essay section. In the enquiry section there will be four primary written sources and one question for the A-level examination, and three primary written sources and two questions for the AS-level examination. Section B will consist of two essays, of which you will have to answer one. The type of essay set for both the AS and A-level examinations are similar, but the AS mark scheme does not have a Level 6 (see page 7).


Britain, 1930–97


The specification lists the content of the period study element, which is Britain, 1951–97, under four key topics.





•  Key topic 1 – Conservative domination, 1951–64



•  Key topic 2 – Labour and Conservative Governments, 1964–79



•  Key topic 3 – Thatcher and the end of consensus, 1979–97



•  Key topic 4 – Britain’s position in the world, 1951–97





The specification lists the content of the enquiry element, which is Churchill 1929–51 under three key topics.





•  Key topic 1 – Churchill’s view of events, 1929–40



•  Key topic 2 – Churchill as wartime Prime Minister



•  Key topic 3 – Churchill and international diplomacy, 1939–51





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


AS-level


The AS examination which you may be taking includes all the content.


You are required to answer:





•  Section A: two questions. They are source-based questions and will require you to use your knowledge to explain, analyse and evaluate three primary sources. The first question will require you to consider the utility of one of the sources for a particular issue and is worth 10 marks. The second question will require you to explain, analyse and evaluate the three sources in relation to an issue and is worth 20 marks. The section is worth 30 marks.



•  Section B: one essay question from a choice of two. The essays require you to explain, analyse and assess an issue, using your knowledge to reach a balanced judgement about the question. The question is worth 20 marks.





The exam lasts one and a half hours, and you are advised to spend slightly more time on Section A.


At AS-level, Unit 2 will be worth a total of 50 marks and 50 per cent of the AS-level examination.


A-level


The A-level examination at the end of the course includes all the content.


You are required to answer ONE question from Section A and one essay from Section B from a choice of TWO questions.





•  Section A is the enquiry question and will contain four written primary sources. You will be asked to use the four sources to test a hypothesis by considering the provenance and content of the sources and applying your own knowledge to the sources to reach a judgement about them in relation to the issue in the question. This is the same as AS question 2 but uses four sources instead of three.



•  The essay questions are similar in style and requirement to the AS essay question, except that in order to reach the highest level you will need to show a more developed sense of judgement.





The exam lasts for one and a half hours. You should spend slightly longer on Section A than B.


At A-level, Unit 1 will be worth a total of 50 marks and 25 per cent of the A-level.


In both the AS and A-level examinations you are being tested on your ability to:





•  use relevant historical information



•  the skill of analysing factors and reaching a judgement.






How to use this book



This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination.





•  The book is divided into four sections – one for each section of the AS and A-level specifications.



•  Each section is made up of a series of topics organised into double-page spreads.



•  On the left-hand page you will find a summary of the key content you will need to learn.



•  Words in bold in the key content are defined in the glossary (see pages 98–99).



•  On the right-hand page you will find exam-focused activities.





Together these two strands of the book will provide you with the knowledge and skills essential for examination success.
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Examination activities


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers on pages 102–104. These have the following symbol to indicate this: [image: ]


Each section ends with exam-style questions and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.






Mark schemes



For some of the activities in the book it will be useful to refer to the mark schemes for this paper. Below are abbreviated forms.


AS-level






	
Level 

	Question 1 Utility

	Question 2 All 3 sources

	Question 3 or 4 Essay






	5

	Good focus, evaluation using provenance and context to engage with the issue to reach an analysis of its utility.

(9–10)



	Good focus, sources are evaluated using provenance and context, although there may be some imbalance, to reach an analysis of the issue.

(17–20)



	Mostly focused, supported answer with good analysis and evaluation to reach a supported judgement.

(17–20)








	4

	Mostly focused, evaluated using provenance and context, with some imbalance to engage with the issue to reach an analysis of its utility.

(7–8)



	Mostly focused, sources are evaluated using some provenance and context to reach an analysis of the issue.

(13–16)



	Some focus with support, analysis with limited evaluation and judgement.

(13–16)








	3

	Partial focus and evaluation of either context or provenance to produce a partial analysis of its utility.

(5–6)



	Partial focus and evaluation, some context to produce a partial analysis of the issue.

(9–12)



	Partial focus on the question, with some knowledge and analysis, but little or no judgement.

(9–12)








	2

	Limited focus, general or stock evaluation to produce a limited analysis of the issue.

(3–4)



	Limited focus, evaluation is general as is context. General analysis of the issue.

(5–8)



	Focus is descriptive and may be more on the topic than the question. Any analysis may be implied.

(5–8)








	1

	Answer is on the topic, basic evaluation and general knowledge. Simple or general analysis of the issue.

(1–2)



	Answer is on the topic, basic evaluation, much description of the sources and general contextual knowledge leading to a simple analysis of the issue.

(1–4)



	Focus on the topic and attempts at analysis will be little more than assertion.

(1–4)









A-level






	
Level 

	
Question 

	
Essay 






	6

	Well focused, sources are fully evaluated using provenance and context to reach a fully supported analysis of the issue.

(26–30)



	Well-focused, supported answer with very good analysis and developed evaluation to reach a supported and sustained judgement.

(17–20)








	5

	Good focus, sources are evaluated using provenance and context, although there may be some imbalance, to reach an analysis of the issue.

(21–25)



	Mostly focused, supported answer with good analysis and evaluation to reach a supported judgement.

(13–16)








	4

	Mostly focused, sources are evaluated using some provenance and context to reach an analysis of the issue.

(16–20)



	Some focus with support, analysis with limited evaluation and judgement.

(10–12)








	3

	Partial focus and evaluation, some context to produce a partial analysis of the issue.

(11–15)



	Partial focus on the question, with some knowledge and analysis, but little or no judgement.

(7–9)








	2

	Limited focus, evaluation is general as is context. General analysis of the issue.

(6–10)



	Focus is descriptive and may be more on the topic than the question. Any analysis may be implied.

(4–6)








	1

	Answer is on the topic, basic evaluation, much description of the sources and general contextual knowledge leading to a simple analysis of the issue.

(1–5)



	Focus on the topic and attempts at analysis will be little more than assertion.

(1–3)












1 Churchill’s view of events, 1929–40



Why was Churchill out of office in 1929–39?


Winston Churchill was a highly experienced minister and one of Britain’s leading politicians, but during a vital period he was out of office. The Conservatives lost the general election of May 1929, and when Macdonald formed his National Government in August 1931 Churchill was not invited to be part of it. When the National Government became increasingly Conservative in nature, Churchill was still ‘in the wilderness’, and it was not until the start of the war in 1939 that he was back in the cabinet.


Previous reputation


Churchill was not liked by either Labour or the Liberals so would have been a difficult person to have in a coalition in 1931. There were several reasons for this:





•  Labour remembered his bitter attacks on trade unions during the General Strike of 1926 and even his use of troops against strikers in South Wales before the First World War.



•  His responsibility for the failed Gallipoli attacks in 1915 also made him unpopular.



•  He was blamed for high unemployment because of his policy of returning Britain to the Gold Standard in 1925, which raised export prices.



•  He had taken a strong line against making concessions to Indian self-government, which went against the views of moderates in all parties.



•  He had been critical not only of Labour policy on India between 1929 and 1931 but also of the Conservative leader Baldwin’s support for negotiation with Indian nationalists and Gandhi.



•  He was considered to have aligned himself with extreme right-wing imperialists and to be out of touch with more modern Conservative policies.





Churchill’s stance in the mid-1930s


Churchill was not invited back into government in the mid-1930s when Stanley Baldwin, and later Neville Chamberlain, became Prime Ministers and the former Labour Prime Minister MacDonald retired. The reasons for this centred around his speaking out on the danger posed by Germany and his belief that Britain should rearm generally and needed greater air defences in particular. This was out of line with mainstream thinking. He seemed too willing to risk war again when public opinion was opposed to conflict, and there was a belief in reaching negotiated settlements. Chamberlain became Prime Minister in 1937 and was very committed to a policy of Appeasement. Churchill’s speeches made better relations with Germany more difficult (see page 14 for more on Appeasement), and he did not seem to offer a realistic alternative to the Government’s policy.


Churchill’s criticism of British defences seemed hypocritical because it was his defence cuts of the 1920s which laid the basis for Britain’s military weakness. The urge to rearm also seemed to ignore the economic realities of the 1930s, when government spending had been cut and unemployment was high. Spending money on what might be seen as an ‘arms race’ when there were very stringent conditions on any help for Britain’s unemployed was very difficult to justify. Alongside this, his outspoken support for Edward VIII during the Abdication crisis put him outside the consensus of his own party and Britain’s establishment (see page 10 for more on the Abdication).


Churchill’s style


Aside from his policies, Churchill’s style seemed out of touch. His way of speaking seemed old fashioned and contrasted with that of both Baldwin and Chamberlain, who had a more modern way of speaking to the electorate. He also did not have a strong following in the Conservative Party and surrounded himself with other ‘outsiders’.
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[image: ] Mind map


Make a copy of the mind map below and use the information on the opposite page to show how each issue explains why Churchill was not in office.
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[image: ] Spot the inference      [image: ]


High-level answers avoid just summarising or paraphrasing the sources, and instead make inferences from the sources. Below are a source and a series of statements. Read Source A and decide which of the statements





•  make an inference from the source (I)



•  paraphrase the source (P)



•  summarise the source (S)



•  cannot be justified from the source (X).









	
Statement 

	
I  

	
P  

	
S  

	
X  






	


1  The Labour party hated Churchill.






	 

	 

	 

	 






	

2  Even though he was admired for some personal qualities, Churchill was not seen as solid and trustworthy and this made it difficult for him to be in office.




	 

	 

	 

	 






	

3  Churchill was very talented and charming but he loved crises, his judgement was faulty and he liked to make things happen.




	 

	 

	 

	 






	

4  Churchill was obviously the most talented of the politicians and he was charming and had very good manners. This did not prevent some people thinking that he was dangerous and loved crises.
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SOURCE A


Arthur Ponsonby, a Labour MP who was formally a Liberal, explains his view of Churchill in a letter from March 1930. Quoted from R.R. James, Churchill, A Study in Failure.


He [Churchill] is so far and away the most talented man in political life and he is also charming and a gentleman, but this does not prevent me from feeling politically that he is a great danger, largely because of his love of crisis and his faulty judgement. He once said to me ‘I like things to happen, and if they don’t happen, I like to make them happen.’
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India and the Abdication



What were the problems in India?


In India there were widespread calls for independence from Britain, especially after British troops had fired on a crowd at Amritsar in 1919. Growing nationalist agitation was led by the Congress Party, and a non-violent but powerful civil disobedience campaign was led by Gandhi. Reliance on repression to govern India gave Britain a poor international reputation and risked alienating the support for British rule among many of the richer and more privileged Indians.


The British Government made conciliatory moves. In 1930 and 1931 Gandhi attended talks in London. This was followed by the passing of the Government of India Act in 1935 which set up elected legislatures and increased the electorate.


Why did Churchill oppose British policy?


Churchill opposed the British Government’s moves towards change in India because:





•  he loved the Raj and had served in the army in India as a young man



•  he objected to any concessions to popular protest and threats to lawful authority



•  he thought that Gandhi and Indian nationalism would be content only with full independence, so concessions were a waste of time



•  he thought that independence would lead to disastrous conflicts between Muslims and Hindus and put power in the hands of India’s most powerful caste – the Brahmins



•  he believed in the superiority of the white race and its destiny to rule



•  he saw British power in Europe and the world as dependent on its continuing control of its Empire.





What were the consequences?


Even some of Churchill’s friends and supporters found some of his views on India too extreme. He had aligned himself with extreme and old-fashioned imperialists, and cut himself off from mainstream Conservative Party opinion. This alienated Prime Ministers Baldwin and Chamberlain, who did not trust him to be in government.


The Abdication


A stable monarchy was important as it helped Britain’s reputation abroad and the monarchy had been a vital element in encouraging patriotism and sacrifice during the First World War. When Edward VIII succeeded to the throne in 1936 he wanted to marry Mrs Simpson. This threatened stability because:





•  marrying an American who had been twice divorced would have been difficult for the British public to accept at a time when divorce still bore a stigma



•  the Archbishop of Canterbury was concerned about marrying a divorced woman in church



•  there may have been problems in the Empire in accepting a marriage in which she was simply the royal consort rather than Queen



•  the cabinet did not give its approval for the marriage and therefore if Edward had married Mrs Simpson, the Government would have had to resign.





Why did Churchill support the King?


Churchill joined the small group of ‘King’s friends’ and supported Edward because:





•  Churchill had a sincere devotion to hereditary monarchy, and saw it as his duty to support the rightful King



•  he spoke of his friendship with the King when he had been Prince of Wales



•  he possibly was unsympathetic to those ‘respectable’ members of the establishment who seemed to be opposed to the King finding happiness



•  he was an emotional person and was moved by the royal love story.





What were the consequences?


As with India, Churchill was in a minority and at odds with his party and its leadership. He seemed oblivious to public opinion and appeared eccentric and old-fashioned.





[image: ]


[image: ] Using the provenance      [image: ]


Sources A and B show Churchill speaking about India in a different way. Identify the difference and use the provenance to think which might be more reliable.


Difference:


___________________________


___________________________


___________________________


Which might be more reliable?


___________________________


Why?


___________________________


___________________________


___________________________
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SOURCE A


Churchill speaking to the India Empire Society in December 1930.


No agreement reached at the Round Table Conference will be binding. The British nation has no intention whatever of relinquishing control of Indian life. It is time for parliament to reclaim its right to restrict Indian constitutional liberties. Gandhi-ism and all it stands for will have to be grappled with and crushed. It is no use trying to satisfy a tiger by feeding it cat’s meat.
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[image: ]


SOURCE B


Churchill opposes the India Bill in the House of Commons, 5 June 1935.


Does this bill mean a broadening of Indian life, a widening and elevating of Indian thought? Does it mean that the Indian worker will have a better chance of ‘life, liberty and the pursuit of happiness’? India is a country that has responded to the influence of British peace, order and justice, new wealth, new food and new happiness. Such a vast mass of people requires British guidance.
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[image: ] AS question


Read Source C and answer the following question.




Source C refers to the Abdication. How useful is it for understanding why Churchill was in the political wilderness in the 1930s?





[image: ]







[image: ]


SOURCE C


Churchill speaks in the House of Commons on 10 December 1936, the day of the King’s Abdication.


It was my duty as Home Secretary, more than a quarter of a century ago, to stand beside his present majesty and proclaim his style and titles at his investiture as Prince of Wales in the sunlit battlements of Caernarvon Castle and ever since then he has honoured me with his personal kindness and I may even say his friendship. I should have been ashamed if I had not cast about for every lawful means, even the most forlorn, to keep him on the throne.
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Churchill’s attitude to Germany after 1933



Churchill saw the Hitler regime that was established in 1933 as dangerous. He saw continuity with the situation before 1914, when Germany had been a threat to world peace. Churchill’s historical knowledge and writings also influenced his outlook. He had made an influential study of the origins of the First World War in his book The World Crisis which stressed the rise of Germany and its impact on the balance of power in Europe and the threat of German expansion. Now it appeared that Germany was once more seeking to overturn the balance of power established in 1919. He was also influenced by a multi-volume historical account of his ancestor, John Churchill, the Duke of Marlborough, in whose palace at Blenheim Churchill had been born. In Marlborough, His Life and Times, Churchill had portrayed England fighting against the domination of Europe by the powerful and absolutist king Louis XIV and being defeated by the military skill of England’s general, Churchill. It was the fear of the domination of the continent by a single power that had driven British policy over the centuries and Churchill’s historical interests led him to think that this was happening once again with Hitler’s Germany.


Churchill had been part of the government which had established the peace treaty with Germany in 1919 and was worried that the new ultra-nationalist regime would break it. He feared that a powerful Germany would upset the balance of power in Europe and take advantage of weaker states established after the First World War in eastern Europe. He was also concerned about the violent behaviour of the Nazis and disliked the Nazi party’s anti-Semitism. However, Churchill did not oppose dictatorship in itself, and had been sympathetic to Mussolini’s rule in Italy.


What was his attitude to developments in Germany?


Churchill repeatedly voiced his concerns about developments in Germany. He saw German rearmament as a threat, and as early as 1934 he warned against Germany developing stronger air power than Britain. When Hitler reintroduced conscription in 1935, Churchill was worried this was another sign of a revival of German militarism. The British Government’s response to German rearmament was to try to limit it through the Anglo-German Naval Treaty of 1935. Churchill criticised this as a sign of weakness. He also thought that it was short-sighted of Britain to fall out with Mussolini, hitherto an opponent of Hitler, over the Italian invasion of Ethiopia.


Why did Churchill not gain more support for his views?


There were many reasons why Churchill’s attitude to Germany was unpopular in Britain.





•  Some thought Germany had been treated too harshly by the Treaty of Versailles.



•  There was a great deal of anti-war feeling and rearmament was unpopular.



•  Churchill seemed to be advocating initiating another arms race. It was widely thought that the naval race between Britain and Germany had led to the First World War. He also appeared somewhat hypocritical since he had initiated much British disarmament in the 1920s.



•  Some in Germany and those on the political right in Britain sympathised with Hitler due to his opposition to communism and the national revival he had initiated in Germany, thus even Churchill’s natural allies did not support his views.



•  Churchill’s worry about German air power so early seemed to be too alarmist.



•  Churchill seemed to be putting possible clashes with Germany ahead of Britain’s need to look after her own people at a time of economic distress.



•  Given Churchill’s views on the Empire and India, his anti-German stance seemed to be yet another example of his living in the past and harking back to Edwardian England, which had viewed Germany as the main enemy.



•  Churchill seemed to ignore the role of the League of Nations in keeping peace at a time when there were still high hopes for the League’s success.
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[image: ] Support or challenge?


Below are an exam-style question that asks you to agree with a specific statement and a series of sources relevant to the question. Use your own knowledge and the information on the opposite page to decide whether the sources support or challenge the statement in the question and explain why in the boxes.




Using these three sources in their historical context, assess how far they support the view that Churchill’s failure to get more support for his views on Germany and rearmament was his own fault.









	
Source 

	
Support 

	
Challenge 






	A


	 

	 






	B


	 

	 






	C
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SOURCE A


Baldwin speaks in the House of Commons about the public support for rearmament, 12 November 1936.


There was probably a stronger pacifist feeling running through the country at any time since the War. You will remember the election in Fulham in 1933. I asked myself what chance there was within the next two or three years of public feeling being changed enough to give the government support for rearmament?
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SOURCE B


Churchill speaks about Germany in a radio broadcast in November 1934. Quoted from R.R. James, Churchill, A Study in Failure.


Only a few hours away by air there dwells a nation of nearly 70 million who are being taught from childhood to think of war and conquest as a great and glorious exercise and death in battle as the noblest fate of man. It is in the grip of ruthless men preaching a doctrine of racial pride. We must without another hour’s delay begin to make ourselves the strongest air power in the European world.
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SOURCE C


Lord Halifax, then a member of the Government as Lord Privy Seal and later to be Foreign Secretary, gives his view on the threat of war in a speech to the House of Commons in 1935.


Are we to judge the situation so serious that everything has to give way to military reconditioning of our Defence forces? Such a conclusion seems to rest on the view that war is inevitable, that there is a certainty as to the early imminence of war which I am not prepared to accept.
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[image: ] Doing reliability well      [image: ]


Below are an exam-style question and a set of definitions listing common reasons why sources can be unreliable. Using Sources A–C above, for each source write a critical account of whether it is a reliable or unreliable piece of evidence, justifying your answer by referring to the definitions below.




Using these three sources in their historical context, assess how far they support the view that Churchill’s failure to get more support for his views on Germany and rearmament was his own fault.








•  Vested interest: the source is written so that the writer can protect his own power or interests.



•  Second-hand report: the writer is not in a position to know and is relying on someone else’s information.



•  Expertise: the source is written on a subject on which the author is an expert.



•  Political bias: the source is written by a politician and it reflected their political views.



•  Reputation: the source is written to protect the writer’s reputation.
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